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Note: you have four choices for each objective type question as A, B, C and D. The choice _‘,gjid’f,;e,mr
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to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1
(1) Deficit financing policy causes:
(A) Deflation (k¥
(C) Balance of trade (e fyity

(2) Inflation does not spread in Pakistan due to:

(A) Increase in quantity of money ag‘f.iwufﬂﬁf&J

(C) Fall in prices c_..pJL.nﬁ/uf‘f
(3) Zakat system was implemented in Pakistan in:

(A) % #1979 AD (B) X +1980 AD
(4) Major part of imports of Pakistan is:

(A) Rice sk (B) Leather 14
(5) One of the followings is not characteristics of

Islamic Economic System:
(A) Interest system By
(C) Classless society s 6027

(6) Direct taxes are included in:
. o
(A) Personal income U347

(C) Transfer payments _EUEhIgE

(7) With the measurement of national income of any country, we estimate its:

(A) Political status ¢ two lsibe (5

(C) Defensive power :‘_t'mJMK.:,}J 6
(8) Near money is:

(A) Paper money JjSit

(C) Legal tender 3376

(9) Speculative demand for money is the function of:

(B) Income ¥(47
(10) Function of a commercial bank is:
(A) To stop hoarding &5/(§issls 2

(A) Investment K561~

(C) To increase manpower tloze 45131
(11) Central Bank controls:

(A) Circulation of money JU’;/;J/J
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(B) Inflation (b1
(D) Political instability (&l
St i At o]
(B) Increase in population S AGLT
(D) Fall in value of money @ng/‘jﬁ;}‘f$u
-gﬁ[éurwmﬁﬂub@

(C) ~+1981 AD (D) % +1983 AD

..c"_,.ﬁ(‘. t(auTJ;Jutfg
(C) Cotton Y~ (D) Machinery (>
ety S B L )

(B) Right of private ownership e lif

(D) Difference between Halal and Haraam /Z.7J(lb;tdua

-gln) lﬁ‘/?ubo’/.
(B) Disposable personal income (2041w A6

(D) Depreciation allowance ui‘uji Ulu(»'/"
-ZJJJ:'-JJE;J&»‘TJ}
(B) Social status ‘é—bﬁbﬂj‘g@}&t"
(D) Economic development < tvoJlsl¥ Aol
-.:"_.de"/“
(B) Government securities u.‘? A g
(D) Metallic money 45dle»
-:‘-J‘@Ju':’? 1%
(D) Interest rate K7~
e (KO L
(B) To issue monetary policy t/d/i_ad‘«! { Gyt
(D) Credit creation t/¥Ls0)

(C) Consumption €.~

-‘LE'/U)/‘/JU/(/
(B) Smuggling J_&-
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(20) 1In Pakistan, under IT Industry Development Programme

Income tax in Pakistan is a:
(A) Regressive tax Jg‘,{ 7
(C) Proportional tax Jg.,/(')
Similarity in private and public finance is:
(A) Deficit financing (/6.4 /J:._/l)
(C) Financial record 5,/€.6= U\
Not portable in foreign trade is:
(A) Land @) (B) Labour &

Theory of comparative advantages was presented by:
(A) Adam Smith & #7T (B)Marshall 4 (C) Ricardo Lsh.

Per capita income of Pakistan can be increased by:

(A) Foreign loans < ur* 3%

(C) Increasing population « SLIEELT

Economic development is a process of:
(A) Short term K:,,h)ﬁg
(C) Long term =) #

Not included in agricultural problem is:

(A) Water logging /;5’;(5

(C) Backwardness of farmers G suis

ATM was introduced by:

(A) Computer technology < 2Got@d

(C) Lazer technology c_.?}JdJl'«?/x.‘

was established.

(A) PICIC (B) SMEDA

(2)
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et
(B) Progressive tax Jg;’iﬁ
(D) Indirect tax UZb-1,
g et A

(B) Budget period w4
(D) Balance of income and expenditure  (JJ15¢ B a7
~+U5:/».°.f «ﬂ:«/‘;fﬁf
(D) Goods and services cat;«;,lfi
RS }/.&li?, }'/
(D) Robins & #.
e Pplui i 3due
(B) Deficit financing « (/64 /&_JL?'
(D) Increasing literacy rate P12 14 u’ﬂib/“

(C) Capital -t

=S
(B) Medium term K:u(.}yw
(D) Average duration K b-s/
YAV S

(B) Landlordism (5S4
(D) Shortage of minerals JJ&Q»’
A ATM
(B) Printing technologyc.._»({&)b.?u@4
(D) Satellite <o 18~
-gfgw:uu@.ﬁa:ﬂﬂ&:‘;&,wﬁuégr

(C) PSEB (D) PEMRA
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NOTE: Write same question number _q_bﬂuf%.{.;]b’,@{; Zy;;/ﬁ‘]/:l/fdifd:{(é(@b? -
and its part number in answer book, as given in the question paper.

SECTION-l sl

2. Attempt any eight parts. 16=2x8 ez lind e 8 20y
(i)  What is meant by disposable personal income? g..:yl;fa,&ﬂg}‘.{}/ﬁ&b" (i)
(il What is the difference between ‘.’.;,J/'l[uﬁ (GNP) A)Lgd}(h;»l (GDP) Jbbg;uﬂrl} (ii)
Gross bomestic Product(GDP) and Gross National Product(GNP)?
(i)  Write methods for the measurement of National Income. -ﬂ&/’égﬂ;g{&ﬂd? (1)
(iv) What is the difference between Income and Transfer payment? &;.J/'l{@f f: 1,;&@“;1,,1&,‘,7 (iv)
(v)  What is meant by Barter system? Sl e Dberinle (V)
(vi) What is meant by Metallic money? ?;.;J/L[c.n[stm (vi)
(vii) What is meant by Money? Seslplfe i (Vi)
(viii) Differentiate between Convertible paper money and SO PSS dda sl (Vi)
Inconvertible paper money.
(ix) Define Monetary Policy. -q/q//’cfﬁgdzi (ix)
(x) Why is the Central bank called Banker's bank? ?C‘.—t"gtg’/ux.( b Ku;@fu@d)r/ (x)
(xi) What is the difference between Muéharika and Modarba? %.J}Lﬂjiﬁiﬁwl,zw (xi)
(xii) What is. meant by interest free banking? ‘.’c‘-:l/l[c:,d/éaﬂ& (xii)
3. Attempt any eight parts. 16=2x8 -s{{fcaywél‘zlifc.éf -3/.2Jlr
(i)  Whatis meant by Public Finance? ?c‘:_;l/gc,c,ytdzkf/ (i)
(i)  What is meant by direct tax? ?%)ygfz,w@/w/. (i)
(i) Describe the difference between Direct Tax and Indirect Tax. -q/uw/'u:f]mﬂguvguugu (iii)
(iv) Whatis mearnf | by Progressive Tax? %,ﬂ/([a..dg:o’!-/"‘ (iv)
(v)  What is meant by Comparative advantages? . ?{_:l/t[c;df"/.&.@ (v)
(vi) What is meant by International Trade? ?c‘_;l/gfc;ajtfdl}ww (vi)
(vii) Write four advantages of International trade. -gqu’f}ﬂgﬁozt;%’d P (vii)
(viil) Write definition of domestic trade. ~¢U_.§J/7J¢A,if (viii)
(ix) Differentiate between tax and subsidy. ,g{uw)u:é_uuw? (ix)
(X) What is meant by specialization? S’c‘;_;l/gfc,%uﬁ"’; (x)
(xi) What is meant by exports? Sl el (X)

(xii) Write the difference between visible and invisible goods. -é{;&/‘ut“wléfﬁ;ﬂ’(;/ (xii)
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Q.No.4 Attempt any nine parts. 18=2x9 _E e n L8 4ty
(i)  Write names of any two criterion of measuring ~4i"téu]g»aé,~’ZJj§J &6 ()
economic development.
(i) Write definition of under developed economy. -u.:"{,y /FJ&.?’,/,gJ) (ii)
(iii) What is meant by favourable balance of payments? ?;.:yga_fi l:’uﬂ?&"'/ (iii)
(iv) Describe socio-cultural factors of economic development. U G’ Sl S (V)
(v) What is meant by human resource development? g.yg@@ﬂ CZU:’&UI (v)
(viy What is meant by disguised unemployment? ?4_;1/96:4%1,/4,‘5’? (vi)
(vi) What is meant by E-Commerce? ?4.;!/t“/¢.u’/&(jf (vii)
(viii) What is cost push inflation? bl IS S A S e (i)
(ix) Whatis value added tax? ?ﬁz.rngf‘_/gd/}ﬂ) (ix)
(x) What is meant by Zakat? e a9 (X)
(xi) Write four important imports of Pakistan. -éﬁr{/:rauﬁ:(? bgd/uk”/g (xi)
(xiiy Why does Islam emphasize on circulation of wealth? ?c‘..L";w)u:;Qg)uJ’u’?M (xii)
(xiii) What is meant by investment on the basis of Sl e S g U e sl 17 (xill)

Shirakat and Modarabah?

| SECTION-Il (s
NOTE: Attempt any three questions. 30=10x3 -é{;.a&lﬁé:aUIrJLGf Oy

5. Describe the causes of low per capita income in Pakistan. _q/ugywziufﬂ&ﬂt/&u:uu@ B

6. Whatis meant by inflation? SIS AL WAL Sl U sibl P -6
Also explain causes of inflation in Pakistan.

7. Describe the cannons of taxation. ,q/ugdffziz,/mu? ol

8. Describe the Comparative Cost Theory of -u;/ug«., ﬁ{d/b”&@gﬁaﬂfd Sy -8
International Trade. |

9. Describe the problems of agricultural -q/ 5 S KJ/V@GEV»!Q/UQ.J/L»L,;igfuiuL“f L -9

sector in Pakistan and also suggest the remedies of the problems.
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